



**HAL**  
open science

# Variational Methods and Almost Periodic Solutions Of Second Order Functional Differential Equations With Infinite Delay

Moez Ayachi

► **To cite this version:**

Moez Ayachi. Variational Methods and Almost Periodic Solutions Of Second Order Functional Differential Equations With Infinite Delay. Communication in Mathematical Analysis, 2010, Volume 9 (Number 1), pp. 15-31. hal-00439631

**HAL Id: hal-00439631**

**<https://hal.science/hal-00439631>**

Submitted on 8 Dec 2009

**HAL** is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

**VARIATIONAL METHODS AND ALMOST PERIODIC  
SOLUTIONS OF SECOND ORDER FUNCTIONAL  
DIFFERENTIAL EQUATIONS WITH  
INFINITE DELAY**

**MOEZ AYACHI\***

Laboratoire Marin Mersenne

Université Paris 1 Panthéon-Sorbonne, centre P.M.F.,

90 rue de Tolbiac, 75634 Paris cedex 13, France

(Communicated by Alexander Pankov)

**Abstract**

By means of variational methods, we study the existence and uniqueness of almost periodic solutions for a class of second order neutral functional differential equations with infinite delay.

**AMS Subject Classification:** 34K14, 65K10.

**Keywords:** variational principle, almost periodic solution, functional differential equations, infinite delay.

## **1 Introduction**

Neutral functional differential equations (abbreviated NFDE) with infinite delay arise in many areas of applied mathematics. For this reason the study of these types of equations has received great attention for several decades. Among the wide literature devoted to retarded differential equations, for the infinite delay we refer to [18, 22, 25, 28] and the references therein, and for the second-order equations we refer to [20, 21].

One of the most attractive aspects of the qualitative theory of this type of equations is the existence of almost periodic solutions, due to their significance in physics, biology, and other. The literature devoted to this subject is fundamentally concerned with first order equations (see for example [28]). In a similar way, second order NFDE have recently been considered in the literature by Henriquez-Vasquez [19], and Diagana-Henriquez-Hernandez [16].

---

\*E-mail address: [Moez.Ayachi@univ-paris1.fr](mailto:Moez.Ayachi@univ-paris1.fr)

About the existence of almost periodic solutions, we introduce variational methods. At our knowledge the use of variational methods is new in the study of almost periodic solutions of infinite delay-differential equations.

Elsgolc [17] initiated a theory of calculus of variations with a retarded argument. Later Hughes [23] and Sabbagh [30] provided additional results of this type of calculus of variations. There also exists a theory of calculus of variations in mean time developed by J. Blot (cf. [6, 7, 8, 9, 10, 11]) to study the almost periodic solutions for some (non-delayed) differential equations. In their work [3] M. Ayachi and J. Blot extend Shu and Xu [31] and Y. Li [27] variational setting for periodic solutions of nonlinear NFDE (finite delay case) to the almost periodic setting. In the present work we introduce a new formalism of calculus of variations in mean time with infinite delay argument.

The basic problem is the following:

$$\begin{cases} \text{Minimize } \lim_{T \rightarrow \infty} \frac{1}{2T} \int_{-T}^T L(u(t), u_t, \nabla u(t), (\nabla u)_t, t) dt, \\ \text{subject to the constraint } u \in B^{1,2}(\mathbb{R}, \mathbb{R}^n). \end{cases} \quad (1.1)$$

We then obtain the existence and uniqueness of weak almost periodic solutions (in the sense of Besicovitch) to the second order NFDE with infinite delay in the following form

$$\begin{cases} D_1 L(u(t), u_t, u'(t), u'_t, t) + \mathcal{T}^* D_2 L(u(t), u_t, u'(t), u'_t, t) \\ = \frac{d}{dt} [D_3 L(u(t), u_t, u'(t), u'_t, t) + \mathcal{T}^* D_4 L(u(t), u_t, u'(t), u'_t, t)], \end{cases} \quad (1.2)$$

where  $L$  is a differentiable function,  $D_j$  denotes the partial differential with respect to the  $j$ th vector variable,  $\mathcal{T}^*$  denotes the adjoint of the linear operator  $\mathcal{T}$  which will be specified later, and for  $t \in \mathbb{R}$ , the history function  $u_t$  is defined by

$$u_t(\theta) := u(t + \theta), \text{ for } \theta \in (-\infty, 0].$$

Note that a special case of (1.2) is the following forced second order differential equation with infinite delay

$$u''(t) + D_1 G(u(t), u_t) + \mathcal{T}^* D_2 G(u(t), u_t) = e(t).$$

The paper is organized as follows: in section (2) we precise the notations about the function spaces and we recall some definitions and properties that will be used in this work. In section (3) we establish some preliminary results. In section (4) we establish a variational formalism suitable to the Besicovitch almost-periodic solutions and Euler Lagrange equation, and in section (5) we obtain results of existence and uniqueness of almost periodic solutions.

## 2 Definitions and notations

Let  $\mathbb{E}$  be a Banach space with norm  $|\cdot|_{\mathbb{E}}$ .

For  $p \in [1, \infty)$ , we denote by  $B^p(\mathbb{R}, \mathbb{E})$  the space of Besicovitch almost-periodic (Besicovitch a.p. for short) functions from  $\mathbb{R}$  in  $\mathbb{E}$  (cf. [4, 5, 29]). We recall that  $B^p(\mathbb{R}, \mathbb{E})$  is the completion of  $\mathcal{AP}^0(\mathbb{R}, \mathbb{E})$  (in  $L^p_{loc}(\mathbb{R}, \mathbb{E})$ ) with respect to the norm

$$\|f\|_{B^p(\mathbb{R}, \mathbb{E})} = \mathfrak{M}_t \{ |f(t)|_{\mathbb{E}}^p \}^{\frac{1}{p}} := \left( \lim_{T \rightarrow +\infty} \frac{1}{2T} \int_{-T}^T |f(t)|_{\mathbb{E}}^p dt \right)^{\frac{1}{p}},$$

where  $\mathcal{AP}^0(\mathbb{R}, \mathbb{E})$  is the space of Bohr almost-periodic (Bohr a.p. for short) functions from  $\mathbb{R}$  in  $\mathbb{E}$  (cf. [5, 12, 13, 26, 29]).

Recall the following useful fact: if  $(f_m)_m$  is a sequence in  $\mathcal{AP}^0(\mathbb{R}, \mathbb{E})$  and if  $f \in L^p_{loc}(\mathbb{R}, \mathbb{E})$  satisfies

$$\overline{\mathfrak{M}}_t \{ |f_m - f|_{\mathbb{E}}^p \}^{\frac{1}{p}} := \left( \limsup_{T \rightarrow \infty} \frac{1}{2T} \int_{-T}^T |f_m - f|_{\mathbb{E}}^p dt \right)^{\frac{1}{p}} \rightarrow 0 \quad (m \rightarrow \infty),$$

then  $f \in B^p(\mathbb{R}, \mathbb{E})$ , and we have  $\|f_m - f\|_{B^p(\mathbb{R}, \mathbb{E})} \rightarrow 0 \quad (m \rightarrow \infty)$ .

We recall the 'Mean Value Theorem' (c.f. ([4, page 93], [5, page 244-245], [13, page 45])): If  $f \in B^p(\mathbb{R}, \mathbb{E})$ , the mean value of  $f$  exists in  $\mathbb{E}$  and satisfies the following property

$$\mathfrak{M}\{f\} = \mathfrak{M}^+\{f\} = \mathfrak{M}^-\{f\}, \quad (2.1)$$

where

$$\begin{cases} \mathfrak{M}^+\{f\} := \lim_{T \rightarrow +\infty} \frac{1}{T} \int_0^T f(t) dt \\ \mathfrak{M}^-\{f\} := \lim_{T \rightarrow +\infty} \frac{1}{T} \int_{-T}^0 f(t) dt. \end{cases}$$

When  $\lambda \in \mathbb{R}$ ,  $a(f; \lambda) := \mathfrak{M}_t \{ f(t) e^{-i\lambda t} \}$  are called the Fourier-Bohr coefficients of  $f$ , and

$$\Lambda(f) := \{ \lambda \in \mathbb{R} : a(f, \lambda) \neq 0 \}.$$

When  $p = 2$ , and  $(\mathbb{E}, (\cdot | \cdot))$  is a Hilbert space with norm associated to the inner product  $|\cdot|_{\mathbb{E}} := \sqrt{(\cdot | \cdot)}$ ,  $B^2(\mathbb{R}, \mathbb{E})$  is a Hilbert space, and its norm  $\|\cdot\|_2$  associated to the inner product  $\langle f | g \rangle_{B^2(\mathbb{R}, \mathbb{E})} := \mathfrak{M}\{(f | g)\}$ , (cf. [4, 29]).

We use the generalized derivative (when it exists),  $\nabla f$  defined by

$$\lim_{T \rightarrow +\infty} \frac{1}{2T} \int_{-T}^T \left| \nabla f(t) - \frac{1}{s} (f(t+s) - f(t)) \right|_{\mathbb{E}}^2 dt \rightarrow 0 \quad (s \rightarrow 0),$$

to define

$$B^{1,2}(\mathbb{R}, \mathbb{E}) := \{ f \in B^2(\mathbb{R}, \mathbb{E}) : \nabla f \in B^2(\mathbb{R}, \mathbb{E}) \},$$

which is a Hilbert space for the inner product

$$\langle f | g \rangle_{B^{1,2}(\mathbb{R}, \mathbb{E})} := \langle f | g \rangle_{B^2(\mathbb{R}, \mathbb{E})} + \langle \nabla f | \nabla g \rangle_{B^2(\mathbb{R}, \mathbb{E})},$$

and we denote by  $\|f\|_{B^{1,2}(\mathbb{R}, \mathbb{E})} := \sqrt{\langle f | f \rangle_{B^{1,2}(\mathbb{R}, \mathbb{E})}}$ , (c.f. [11, 15]).

We recall that  $f \in B^2(\mathbb{R}, \mathbb{E})$  if and only if there exists a sequence  $\{a_\lambda\}_\lambda \in l^2(\mathbb{E})$ , such that  $f(t) \sim \sum_{\lambda \in \mathbb{R}} a_\lambda e^{i\lambda t}$ , and in this case we have

$$f \in B^{1,2}(\mathbb{R}, \mathbb{E}) \Leftrightarrow \sum_{\lambda \in \mathbb{R}} \lambda^2 |a_\lambda|_{\mathbb{E}}^2 < +\infty, \quad (2.2)$$

and

$$\nabla f(t) \sim \sum_{\lambda \in \mathbb{R}} i\lambda a_\lambda e^{i\lambda t}. \quad (2.3)$$

If  $\mathfrak{X}$  and  $\mathfrak{Y}$  are two Banach spaces,  $\mathcal{APU}(\mathfrak{X} \times \mathbb{R}, \mathfrak{Y})$  stands for the space of functions  $F : \mathfrak{X} \times \mathbb{R} \rightarrow \mathfrak{Y}$ ,  $(x, t) \mapsto F(x, t)$ , which are almost periodic in  $t$  uniformly with respect to  $x$  in the classical sense given in [32, Chapter 1].

To make the writing less heavy, we sometimes use the following notations :

- $\mathcal{B} := B^2((-\infty, 0], \mathbb{R}^n)$ , which is a Hilbert space for the norm  $|\cdot|_{\mathcal{B}}$  associated to the inner product  $(f|g)_{\mathcal{B}} := \mathfrak{M}_\theta^- \{f(\theta) \cdot g(\theta)\}$ .
- $\mathbb{H} := \mathbb{R}^n \times \mathcal{B} \times \mathbb{R}^n \times \mathcal{B}$  is the product Hilbert endowed by the product norm  $|\cdot|_{\mathbb{H}}$ , defined by

$$|X|_{\mathbb{H}} := \left( |x_1|^2 + |\varphi_1|_{\mathcal{B}}^2 + |x_2|^2 + |\varphi_2|_{\mathcal{B}}^2 \right)^{\frac{1}{2}},$$

for all  $X := (x_1, \varphi_1, x_2, \varphi_2) \in \mathbb{H}$ .

- $u^- := u|_{(-\infty, 0]}$ , is the restriction of the function  $u : \mathbb{R} \rightarrow \mathbb{R}^n$  on  $(-\infty, 0]$ .
- $\underline{u}(t) := (u(t), u_t, \nabla u(t), (\nabla u)_t)$ , where  $u \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$ .
- When  $u \in L_{loc}^2(\mathbb{R}, \mathbb{R}^n)$  (Lebesgue space), we denote by  $\tilde{u} : \mathbb{R} \rightarrow L_{loc}^2((-\infty, 0], \mathbb{R}^n)$  the function defined by  $\tilde{u}(t)(\theta) := u(t + \theta)$ .

### 3 Preliminary results

**Lemma 3.1.** *Suppose  $u \in B^2(\mathbb{R}, \mathbb{R}^n)$  is such that  $u(t) \sim \sum_\lambda a_\lambda e^{i\lambda t}$ . Then  $u^- \in \mathcal{B}$  and  $u^-(\theta) \sim \sum_\lambda a_\lambda e^{i\lambda\theta}$  for all  $\theta \in (-\infty, 0]$ .*

*Proof.* By using (2.1) we obtain

$$\begin{aligned} \left\| u(\cdot) - \sum_{\lambda=1}^m a_\lambda e^{i\lambda(\cdot)} \right\|_{B^2(\mathbb{R}, \mathbb{R}^n)}^2 &= \mathfrak{M}_t \left\{ \left| u(t) - \sum_{\lambda=1}^m a_\lambda e^{i\lambda t} \right|^2 \right\} = \mathfrak{M}_t^- \left\{ \left| u(t) - \sum_{\lambda=1}^m a_\lambda e^{i\lambda t} \right|^2 \right\} \\ &= \mathfrak{M}_\theta^- \left\{ \left| u^-(\theta) - \sum_{\lambda=1}^m a_\lambda e^{i\lambda\theta} \right|^2 \right\} = \left| u^-(\cdot) - \sum_{\lambda=1}^m a_\lambda e^{i\lambda(\cdot)} \right|_{\mathcal{B}}^2. \end{aligned}$$

Since  $u \in B^2(\mathbb{R}, \mathbb{R}^n)$  and  $u(t) \sim \sum_\lambda a_\lambda e^{i\lambda t}$ , we have

$$\lim_{m \rightarrow \infty} \left\| u(\cdot) - \sum_{\lambda=1}^m a_\lambda e^{i\lambda(\cdot)} \right\|_{B^2(\mathbb{R}, \mathbb{R}^n)} = 0, \text{ and } \sum_\lambda |a_\lambda|^2 < \infty,$$

and so

$$\lim_{m \rightarrow \infty} \left| u^-(\cdot) - \sum_{\lambda=1}^m a_\lambda e^{i\lambda(\cdot)} \right|_{\mathcal{B}} = 0, \text{ and } \sum_\lambda |a_\lambda|^2 < \infty.$$

Which implies that  $u^- \in \mathcal{B}$ , and its Fourier-Bohr series is  $\sum_\lambda a_\lambda e^{i\lambda\theta}$  for all  $\theta \in (-\infty, 0]$ .  $\square$

*Remark 3.2.* Reciprocally, all function  $[\theta \mapsto v(\theta)] \in \mathcal{B}$ , such that  $v(\theta) \sim \sum_{\lambda} a_{\lambda} e^{i\lambda\theta}$ , possess a unique extension to  $\mathbb{R}$  which will be written also  $v$ , and  $v(t) \sim \sum_{\lambda} a_{\lambda} e^{i\lambda t}$ , ( $t \in \mathbb{R}$ ).

**Lemma 3.3.** *Suppose  $u \in B^2(\mathbb{R}, \mathbb{R}^n)$  such that  $u(t) \sim \sum_{\lambda} a_{\lambda} e^{i\lambda t}$ . Then the following properties are satisfied*

(i)  $\tilde{u} \in B^2(\mathbb{R}, \mathcal{B})$ .

(ii)  $\tilde{u}(t) \sim \sum_{\lambda} b_{\lambda} e^{i\lambda t}$ , where  $b_{\lambda} : (-\infty, 0] \rightarrow \mathbb{R}^n$  is defined by

$$b_{\lambda}(\theta) := a_{\lambda} e^{i\lambda\theta}.$$

(iii)  $\|\tilde{u}\|_{B^2(\mathbb{R}, \mathcal{B})} = \|u\|_{B^2(\mathbb{R}, \mathbb{R}^n)}$ .

*Proof.*  $u \in B^2(\mathbb{R}, \mathbb{R}^n)$ , then by using Lemma (3.1),  $u^- \in \mathcal{B}$ , and since  $\mathcal{B}$  is stable by translation [4], we deduce that for all  $t$  in  $\mathbb{R}$ ,  $u_t \in \mathcal{B}$  and

$$u_t(\theta) \sim \sum_{\lambda} a_{\lambda} e^{i\lambda(t+\theta)}.$$

And so the function  $\tilde{u}$  is well defined in  $\mathbb{R}$  to  $\mathcal{B}$ .

Since the mean value is translation invariant (c.f. [29, page 10]), we have for all  $t \in \mathbb{R}$ ,  $\theta \in (-\infty, 0]$

$$\begin{aligned} \left\| \tilde{u}(\cdot) - \sum_{\lambda=1}^m b_{\lambda} e^{i\lambda(\cdot)} \right\|_{B^2(\mathbb{R}, \mathcal{B})}^2 &= \mathfrak{M}_t \left\{ \left\| \tilde{u}(t) - \sum_{\lambda=1}^m b_{\lambda} e^{i\lambda t} \right\|_{\mathcal{B}}^2 \right\} \\ &= \mathfrak{M}_t \left\{ \mathfrak{M}_{\theta}^- \left\{ \left\| u(t+\theta) - \sum_{\lambda=1}^m a_{\lambda} e^{i\lambda(t+\theta)} \right\|^2 \right\} \right\} \\ &= \mathfrak{M}_t \left\{ \mathfrak{M}_{\theta}^- \left\{ \left\| u(\theta) - \sum_{\lambda=1}^m a_{\lambda} e^{i\lambda\theta} \right\|^2 \right\} \right\} \\ &= \mathfrak{M}_{\theta}^- \left\{ \left\| u(\theta) - \sum_{\lambda=1}^m a_{\lambda} e^{i\lambda\theta} \right\|^2 \right\} \\ &= \left\| u^-(\cdot) - \sum_{\lambda=1}^m a_{\lambda} e^{i\lambda(\cdot)} \right\|_{B^2(\mathbb{R}, \mathbb{R}^n)}^2, \end{aligned}$$

and by using the fact that  $u^- \in \mathcal{B}$ , which implies that

$$\lim_{m \rightarrow +\infty} \left\| u^-(\cdot) - \sum_{\lambda=1}^m a_{\lambda} e^{i\lambda(\cdot)} \right\|_{B^2(\mathbb{R}, \mathbb{R}^n)} = 0,$$

we obtain

$$\lim_{m \rightarrow +\infty} \left\| \tilde{u}(\cdot) - \sum_{\lambda=1}^m b_{\lambda} e^{i\lambda(\cdot)} \right\|_{B^2(\mathbb{R}, \mathcal{B})}^2 = 0.$$

In the other hand it is very easy to see that  $b_\lambda \in \mathcal{AP}^0((-\infty, 0], \mathbb{R}^n) \subset \mathcal{B}$ , and that

$$\sum_{\lambda} |b_\lambda|_{\mathcal{B}}^2 = \sum_{\lambda} \left( \mathfrak{M}_{\theta}^- \left\{ \left| a_\lambda e^{i\lambda\theta} \right|^2 \right\} \right) = \sum_{\lambda} |a_\lambda|^2 < \infty,$$

and so  $\{b_\lambda\}_\lambda \in l^2(\mathcal{B})$ . This implies that  $\tilde{u} \in B^2(\mathbb{R}, \mathcal{B})$ , and  $\tilde{u}(t) \sim \sum_{\lambda} b_\lambda e^{i\lambda t}$ , and so (i) and (ii) are proven.

Applying the Parseval equality, (c.f. [4, page 109], [29, Proposition 2.8]), we obtain

$$\|\tilde{u}\|_{B^2(\mathbb{R}, \mathcal{B})}^2 = \sum_{\lambda} \left| b_\lambda e^{i\lambda t} \right|_{\mathcal{B}}^2 = \sum_{\lambda} |a_\lambda|^2 := \|u\|_{B^2(\mathbb{R}, \mathbb{R}^n)}^2,$$

and so (iii) is proven.  $\square$

**Theorem 3.4.** *Suppose  $u \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$  is such that  $u(t) \sim \sum_{\lambda} a_\lambda e^{i\lambda t}$ . Then  $\tilde{u} \in B^{1,2}(\mathbb{R}, \mathcal{B})$ , and  $\nabla \tilde{u}(t) = \nabla(u_t) = (\nabla u)_t \sim \sum_{\lambda} i\lambda b_\lambda e^{i\lambda t}$ ,  $\forall t \in \mathbb{R}$ .*

*Proof.*  $u \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$  implies that  $u \in B^2(\mathbb{R}, \mathbb{R}^n)$  and  $\sum_{\lambda} |i\lambda a_\lambda|^2 < \infty$ .

Hence, using Lemma (3.3) we have

$$\tilde{u} \in B^2(\mathbb{R}, \mathcal{B}), \text{ and } \tilde{u}(t) \sim \sum_{\lambda} b_\lambda e^{i\lambda t}.$$

However  $\sum_{\lambda} |i\lambda b_\lambda|_{\mathcal{B}}^2 = \sum_{\lambda} \left( \mathfrak{M}_{\theta}^- \left\{ \left| i\lambda a_\lambda e^{i\lambda\theta} \right|^2 \right\} \right) = \sum_{\lambda} |i\lambda a_\lambda|^2 < \infty$ , and from (2.2), we obtain

$$\tilde{u} \in B^{1,2}(\mathbb{R}, \mathcal{B}), \text{ and } \nabla \tilde{u}(t) = \nabla(u_t) \sim \sum_{\lambda} i\lambda b_\lambda e^{i\lambda t}.$$

By virtue of Lemma (3.1),  $\nabla u \in B^2(\mathbb{R}, \mathbb{R}^n)$  implies that  $[t \rightarrow (\nabla u)_t] \in B^2(\mathbb{R}, \mathcal{B})$ .

In the other hand, since the mean value is translation invariant, (c.f. [29, page 10]), we have for all  $t$  in  $\mathbb{R}$

$$\begin{aligned} \left\| (\nabla u)_{(\cdot)} - \sum_{\lambda=1}^m i\lambda b_\lambda e^{i\lambda(\cdot)} \right\|_{B^2(\mathbb{R}, \mathcal{B})}^2 &= \mathfrak{M}_t \left\{ \left| (\nabla u)_t - \sum_{\lambda=1}^m i\lambda b_\lambda e^{i\lambda t} \right|_{\mathcal{B}}^2 \right\} \\ &= \mathfrak{M}_t \left\{ \mathfrak{M}_{\theta}^- \left\{ \left| \nabla u(t+\theta) - \sum_{\lambda=1}^m i\lambda a_\lambda e^{i\lambda(t+\theta)} \right|^2 \right\} \right\} \\ &= \mathfrak{M}_t \left\{ \mathfrak{M}_{\theta}^- \left\{ \left| \nabla u(\theta) - \sum_{\lambda=1}^m i\lambda a_\lambda e^{i\lambda\theta} \right|^2 \right\} \right\} \\ &= \mathfrak{M}_{\theta}^- \left\{ \left| \nabla u(\theta) - \sum_{\lambda=1}^m i\lambda a_\lambda e^{i\lambda\theta} \right|^2 \right\}. \end{aligned}$$

Since  $u^- \in B^{1,2}((-\infty, 0], \mathbb{R}^n)$  if  $u \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$ , we obtain

$$\lim_{m \rightarrow +\infty} \mathfrak{M}_{\theta}^- \left\{ \left| \nabla u(\theta) - \sum_{\lambda=1}^m i\lambda a_\lambda e^{i\lambda\theta} \right|^2 \right\} = 0,$$

and so

$$\lim_{m \rightarrow +\infty} \left\| (\nabla u)_{(\cdot)} - \sum_{\lambda=1}^m i\lambda b_{\lambda} e^{i\lambda(\cdot)} \right\|_{B^{1,2}(\mathbb{R}, \mathcal{B})}^2 = 0,$$

which implies that  $(\nabla u)_t \sim \sum_{\lambda} i\lambda b_{\lambda} e^{i\lambda t}$ , and by the unicity of Fourier-Bohr series [4, 25], we conclude that  $\nabla(u_t) = (\nabla u)_t$ .  $\square$

**Lemma 3.5.** *Suppose that  $[t_1 \mapsto [t_2 \mapsto f(t_1)(t_2)]]$  and  $[t_1 \mapsto [t_2 \mapsto g(t_1)(t_2)]]$  are in  $B^2(\mathbb{R}, B^2(\mathbb{R}, \mathbb{R}^n))$ . Then*

$$\mathfrak{M}_{t_1} \{ \mathfrak{M}_{t_2} \{ f(t_1)(t_2) \cdot g(t_1)(t_2) \} \} = \mathfrak{M}_{t_2} \{ \mathfrak{M}_{t_1} \{ f(t_1)(t_2) \cdot g(t_1)(t_2) \} \}.$$

*Proof.* Since for all  $\mathbb{E}$  Banach space,  $B^2(\mathbb{R}, \mathbb{E})$  is isomorphic to  $L^2(\mathbb{R}_{\mathbb{B}}, \mathbb{E})$ , where  $L^2(\mathbb{R}_{\mathbb{B}}, \mathbb{E})$  is taken with respect to the Haar measure  $d\mu$  on the compact group  $\mathbb{R}_{\mathbb{B}}$ , (we recall that  $\mathbb{R}_{\mathbb{B}}$  is the Bohr compactification of  $\mathbb{R}$ ), (see [29, Chapter 1]), then there exist unique  $\tilde{f}$  and  $\tilde{g}$  in  $L^2(\mathbb{R}_{\mathbb{B}}, L^2(\mathbb{R}_{\mathbb{B}}, \mathbb{R}^n))$ , where  $\tilde{f}$  and  $\tilde{g}$  are the extensions of  $f$  and  $g$  to  $\mathbb{R}_{\mathbb{B}} \times \mathbb{R}_{\mathbb{B}}$ , and we have

$$\mathfrak{M}_{t_1} \{ \mathfrak{M}_{t_2} \{ f(t_1)(t_2) \cdot g(t_1)(t_2) \} \} = \int_{\mathbb{R}_{\mathbb{B}}} \left( \int_{\mathbb{R}_{\mathbb{B}}} \tilde{f}(r)(s) \cdot \tilde{g}(r)(s) d\mu(s) \right) d\mu(r).$$

It follows that  $[(r, s) \mapsto |\tilde{f}(r)(s) \cdot \tilde{g}(r)(s)|]$  is a measurable-positive function. Since  $\forall r \in \mathbb{R}_{\mathbb{B}}$ ,  $[s \mapsto \tilde{f}(r)(s)]$ , and  $[s \mapsto \tilde{g}(r)(s)]$  are in  $L^2(\mathbb{R}_{\mathbb{B}}, \mathbb{R}^n)$ , by using the Hölder inequality [14], we obtain  $[s \mapsto \tilde{f}(r)(s) \cdot \tilde{g}(r)(s)] \in L^1(\mathbb{R}_{\mathbb{B}}, \mathbb{R})$ , and so

$$\forall r \in \mathbb{R}_{\mathbb{B}}, \quad \left[ r \mapsto \int_{\mathbb{R}_{\mathbb{B}}} |\tilde{f}(r)(s) \cdot \tilde{g}(r)(s)| d\mu(s) \right] < +\infty.$$

Since  $L^2(\mathbb{R}_{\mathbb{B}}, L^2(\mathbb{R}_{\mathbb{B}}, \mathbb{R}^n)) \subset L^2(\mathbb{R}_{\mathbb{B}}, L^1(\mathbb{R}_{\mathbb{B}}, \mathbb{R}^n))$ , we have  $[r \mapsto [s \mapsto \tilde{f}(r)(s)]]$  and  $[r \mapsto [s \mapsto \tilde{g}(r)(s)]]$  in  $L^2(\mathbb{R}_{\mathbb{B}}, L^1(\mathbb{R}_{\mathbb{B}}, \mathbb{R}^n))$ , and by the Hölder inequality we obtain

$$[r \mapsto [s \mapsto \tilde{f}(r)(s) \cdot \tilde{g}(r)(s)]] \in L^1(\mathbb{R}_{\mathbb{B}}, L^1(\mathbb{R}_{\mathbb{B}}, \mathbb{R}^n)),$$

and so  $\int_{\mathbb{R}_{\mathbb{B}}} \left( \int_{\mathbb{R}_{\mathbb{B}}} |\tilde{f}(r)(s) \cdot \tilde{g}(r)(s)| d\mu(s) \right) d\mu(r) < +\infty$ , which implies by using Tonelli Theorem, (c.f. [14, page 54]), that  $[(r, s) \mapsto \tilde{f}(r)(s) \cdot \tilde{g}(r)(s)] \in L^1(\mathbb{R}_{\mathbb{B}} \times \mathbb{R}_{\mathbb{B}}, \mathbb{R})$ . And by using Fubini Theorem (c.f. [14, page 55]), we obtain

$$\int_{\mathbb{R}_{\mathbb{B}}} \left( \int_{\mathbb{R}_{\mathbb{B}}} \tilde{f}(r)(s) \cdot \tilde{g}(r)(s) d\mu(s) \right) d\mu(r) = \int_{\mathbb{R}_{\mathbb{B}}} \left( \int_{\mathbb{R}_{\mathbb{B}}} \tilde{f}(r)(s) \cdot \tilde{g}(r)(s) d\mu(r) \right) d\mu(s).$$

Consequently

$$\mathfrak{M}_{t_1} \{ \mathfrak{M}_{t_2} \{ f(t_1)(t_2) \cdot g(t_1)(t_2) \} \} = \mathfrak{M}_{t_2} \{ \mathfrak{M}_{t_1} \{ f(t_1)(t_2) \cdot g(t_1)(t_2) \} \}.$$

$\square$

Let  $\mathcal{T}$  be the operator defined by :

$$\begin{aligned} \mathcal{T} : B^2(\mathbb{R}, \mathbb{R}^n) &\rightarrow B^2(\mathbb{R}, \mathcal{B}) \\ u &\mapsto [t \mapsto u_t]. \end{aligned}$$



$\mathcal{T}$  is a linear continuous operator between two Hilbert spaces, then its adjoint operator  $\mathcal{T}^*$  is well defined in  $B^2(\mathbb{R}, \mathcal{B})^*$  into  $B^2(\mathbb{R}, \mathbb{R}^n)^*$ , linear and continuous (cf. [1, Chapter 2]), and satisfies the following relation

$$\langle \check{\varphi} | \mathcal{T}(u) \rangle_{B^2(\mathbb{R}, \mathcal{B})} = \langle \mathcal{T}^*(\check{\varphi}) | u \rangle_{B^2(\mathbb{R}, \mathbb{R}^n)},$$

for all  $\check{\varphi} \in B^2(\mathbb{R}, \mathcal{B})^*$  and  $u \in B^2(\mathbb{R}, \mathbb{R}^n)^* \equiv B^2(\mathbb{R}, \mathbb{R}^n)$ . In the following Lemma, we will specify the form of  $\mathcal{T}^*$  on  $B^2(\mathbb{R}, \mathcal{B})$ .

**Lemma 3.6.** *The adjoint operator of  $\mathcal{T}$  has the following form in  $B^2(\mathbb{R}, \mathcal{B})$*

$$\begin{aligned} \mathcal{T}^* : \quad & B^2(\mathbb{R}, \mathcal{B}) \longrightarrow B^2(\mathbb{R}, \mathbb{R}^n) \\ & [t \mapsto [\theta \mapsto \varphi(t)(\theta)]] \mapsto [t \mapsto \mathfrak{M}_{\theta}^- \{ \varphi(t - \theta)(\theta) \}]. \end{aligned}$$

*Proof.* Let  $\check{\varphi} \in B^2(\mathbb{R}, \mathcal{B})^*$ . By Riesz-Frechet Theorem [14, page 81], there exists unique  $\varphi \in B^2(\mathbb{R}, \mathcal{B})$ , such that for all  $\psi \in B^2(\mathbb{R}, \mathcal{B})$

$$\langle \check{\varphi} | \psi \rangle_{B^2(\mathbb{R}, \mathcal{B})} = \mathfrak{M}_t \{ (\varphi(t) | \psi(t))_{\mathcal{B}} \}.$$

And so, by using Remark (3.2), Lemma (3.5), and the invariance of the mean value by translation, we have  $\forall u \in B^2(\mathbb{R}, \mathbb{R}^n)$

$$\begin{aligned} \langle \check{\varphi} | \mathcal{T}(u) \rangle_{B^2(\mathbb{R}, \mathcal{B})} &= \mathfrak{M}_t \{ (\varphi(t) | \mathcal{T}(u)(t))_{\mathcal{B}} \} \\ &= \mathfrak{M}_t \{ \mathfrak{M}_{\theta}^- \{ \varphi(t)(\theta) \cdot u_t(\theta) \} \} \\ &= \mathfrak{M}_t \{ \mathfrak{M}_{\theta}^- \{ \varphi(t)(\theta) \cdot u(t + \theta) \} \} \\ &= \mathfrak{M}_t \{ \mathfrak{M}_{t'} \{ \varphi(t)(t') \cdot u(t + t') \} \} \\ &= \mathfrak{M}_{t'} \{ \mathfrak{M}_t \{ \varphi(t)(t') \cdot u(t + t') \} \} \\ &= \mathfrak{M}_{t'} \{ \mathfrak{M}_t \{ \varphi(t - t')(t') \cdot u(t) \} \} \\ &= \mathfrak{M}_t \{ \mathfrak{M}_{t'} \{ \varphi(t - t')(t') \cdot u(t) \} \} \\ &= \mathfrak{M}_t \{ \mathfrak{M}_{\theta}^- \{ \varphi(t - \theta)(\theta) \} \cdot u(t) \} \\ &= \langle \mathfrak{M}_{\theta}^- \{ \varphi(t - \theta)(\theta) \} | u(t) \rangle_{B^2(\mathbb{R}, \mathbb{R}^n)} \\ &= \langle \mathcal{T}^*(\varphi) | u \rangle_{B^2(\mathbb{R}, \mathbb{R}^n)}. \end{aligned}$$

And so  $\forall \varphi \in B^2(\mathbb{R}, \mathcal{B})$ ,  $\mathcal{T}^*(\varphi)(t) = \mathfrak{M}_{\theta}^- \{ \varphi(t - \theta)(\theta) \}$ . □

## 4 Euler Lagrange Equation (Variational Principle)

Let  $L : \mathbb{H} \times \mathbb{R} \rightarrow \mathbb{R}$ ,  $(X, t) \rightarrow L(X, t)$  be a continuous function.

We give the following list of assumptions :

- (H1)  $L \in \mathcal{APU}(\mathbb{H} \times \mathbb{R}, \mathbb{R})$ , such that there exists  $\alpha \in (0, +\infty)$ , and  $a_1 \in [0, +\infty)$ ;  $\forall t \in \mathbb{R}$ ,  $\forall X, Y \in \mathbb{H}$ ,  $|L(X, t) - L(Y, t)| < a_1 |X - Y|_{\mathbb{H}}^{\alpha}$ .
- (H2)  $L \in \mathcal{APU}(\mathbb{H} \times \mathbb{R}, \mathbb{R})$ , such that the partial differential with respect to  $X \in \mathbb{H}$ ,  $L_X(X, t)$  exists for all  $(X, t) \in \mathbb{H} \times \mathbb{R}$ , and  $L_X \in \mathcal{APU}(\mathbb{H} \times \mathbb{R}, \mathcal{L}(\mathbb{H}, \mathbb{R}))$ .

(H3) There exists  $a_2 \in [0, +\infty)$  such that  $|L_X(X, t) - L_X(Y, t)| < a_2 |X - Y|_{\mathbb{H}}$  for all  $X, Y \in \mathbb{H}$ , for all  $t \in \mathbb{R}$ .

(H4)  $L \in \mathcal{APU}(\mathbb{H} \times \mathbb{R}, \mathbb{R})$ , the partial differential  $D_k L(x_1, \varphi_1, x_2, \varphi_2, t)$  exists for all  $(x_1, \varphi_1, x_2, \varphi_2, t) \in \mathbb{H} \times \mathbb{R}$ ,  $D_k L \in \mathcal{APU}(\mathbb{H} \times \mathbb{R}, \mathcal{L}(\mathbb{R}^n, \mathbb{R}))$  for  $k \in \{1, 3\}$ , and  $D_k L \in \mathcal{APU}(\mathbb{H} \times \mathbb{R}, \mathcal{L}(\mathcal{B}, \mathbb{R}))$  for  $k \in \{2, 4\}$ .

**Lemma 4.1.** *We assume condition (H1) fulfilled. Let  $p, q \in [1, +\infty)$  be such that  $\frac{p}{q} = \alpha$ , then the following two assertions hold:*

(i) *If  $\kappa \in B^p(\mathbb{R}, \mathbb{H})$ , then  $[t \mapsto L(\kappa(t), t)] \in B^q(\mathbb{R}, \mathbb{R})$ .*

(ii) *The Nemytskii operator on  $L$ ,  $\mathcal{N}_L : B^p(\mathbb{R}, \mathbb{H}) \rightarrow B^q(\mathbb{R}, \mathbb{R})$  defined by*

$$\mathcal{N}_L(\kappa)(t) := L(\kappa(t), t),$$

$$\text{satisfies } \|\mathcal{N}_L(\kappa_1) - \mathcal{N}_L(\kappa_2)\|_{B^q(\mathbb{R}, \mathbb{R})} \leq a_1 \|\kappa_1 - \kappa_2\|_{B^p(\mathbb{R}, \mathbb{H})}^\alpha.$$

*Proof.* Setting  $g(t) := L(0, t)$ , and so  $g \in \mathcal{AP}^0(\mathbb{R}, \mathbb{R})$  which implies that  $g \in L_{loc}^q(\mathbb{R}, \mathbb{R})$  (the Lebesgue space). The Hölder assumption (H1) implies

$$|L(X, t)| \leq a_1 |X|_{\mathbb{H}}^\alpha + g(t), \quad \forall (X, t) \in \mathbb{H} \times \mathbb{R}.$$

By using [24, Chapter 1],  $\kappa \in L_{loc}^q(\mathbb{R}, \mathbb{H})$  implies  $[t \mapsto L(\kappa(t), t)] \in L_{loc}^q(\mathbb{R}, \mathbb{R})$ .

Since  $\kappa \in B^p(\mathbb{R}, \mathbb{H})$ , there exists  $\{\kappa_j\}_j \in \mathcal{AP}^0(\mathbb{R}, \mathbb{H})$  such that

$$\lim_{j \rightarrow +\infty} \|\kappa - \kappa_j\|_{B^p(\mathbb{R}, \mathbb{H})} = 0.$$

By using [32, Theorem 2.7, page 16], setting  $\chi_j(t) := L(\kappa_j(t), t)$  we have  $\chi_j \in \mathcal{AP}^0(\mathbb{R}, \mathbb{R})$ , and a straightforward calculation gives us the following inequality :

$$\overline{\mathfrak{M}}_t \{ |L(\kappa(t), t) - \chi_j(t)|^q \}^{\frac{1}{q}} \leq a_1 \overline{\mathfrak{M}}_t \{ |\kappa(t) - \kappa_j(t)|_{\mathbb{H}}^q \}^{\frac{1}{q}} = a_1 \|\kappa - \kappa_j\|_{B^p(\mathbb{R}, \mathbb{H})}^\alpha,$$

and consequently we obtain

$$\lim_{j \rightarrow +\infty} \overline{\mathfrak{M}}_t \{ |L(\kappa(t), t) - \chi_j(t)|^q \}^{\frac{1}{q}} = 0,$$

that implies  $[t \mapsto L(\kappa(t), t)] \in B^q(\mathbb{R}, \mathbb{R})$ , and so (i) is proven.

Moreover the last inequality becomes the one of (ii), when we replace  $\kappa(t)$  by  $\kappa_1(t)$  and  $\chi_j(t)$  by  $L(\kappa_2(t), t)$ .  $\square$

**Lemma 4.2.** *We assume conditions (H2) and (H3) fulfilled. Then the Nemytskii operator  $\mathcal{N}_L : B^2(\mathbb{R}, \mathbb{H}) \rightarrow B^1(\mathbb{R}, \mathbb{R})$ , defined by  $\mathcal{N}_L(\kappa)(t) := L(\kappa(t), t)$ , is of class  $C^1$ , and for all  $\kappa, \delta\kappa \in B^2(\mathbb{R}, \mathbb{H})$ ,*

$$(D\mathcal{N}_L(\kappa)\delta\kappa)(t) = L_X(\kappa(t), t) \cdot \delta\kappa(t).$$

*Proof.* • We show that there exist  $c_2 \in [0, +\infty)$ ,  $h \in B^1(\mathbb{R}, \mathbb{H})$ , such that for all  $X \in \mathbb{H}$  and  $t \in \mathbb{R}$   $|L(X, t)| \leq c_2 |X|_{\mathbb{H}}^2 + h(t)$ .

By using (H3) for  $Y = 0$ , we obtain

$$\exists a_2 \in [0, \infty); \quad |L_X(X, t) - L_X(0, t)| \leq a_2 |X|_{\mathbb{H}},$$

which implies that

$$|L_X(X, t)| \leq a_2 |X|_{\mathbb{H}} + |L_X(0, t)|,$$

and so the mean value theorem [2, page 144], gives that, for all  $(X, t) \in \mathbb{H} \times \mathbb{R}$

$$\begin{aligned} |L(X, t)| &\leq |L(X, t) - L(0, t)| + |L(0, t)| \\ &\leq \sup_{H \in ]0, X[} |L_X(H, t)| |X - 0|_{\mathbb{H}} + |L(0, t)| \\ &\leq (a_2 |X|_{\mathbb{H}} + |L_X(0, t)|) |X|_{\mathbb{H}} + |L(0, t)| \\ &= a_2 |X|_{\mathbb{H}}^2 + |L_X(0, t)| \cdot |X|_{\mathbb{H}} + |L(0, t)| \\ &\leq a_2 |X|_{\mathbb{H}}^2 + \frac{1}{2} |L_X(0, t)|^2 + \frac{1}{2} |X|_{\mathbb{H}}^2 + |L(0, t)| \\ &= \left( a_2 + \frac{1}{2} \right) |X|_{\mathbb{H}}^2 + \frac{1}{2} |L_X(0, t)|^2 + |L(0, t)|, \end{aligned}$$

and by setting  $h(t) := \frac{1}{2} |L_X(0, t)|^2 + |L(0, t)|$ , and  $c_1 := (a_2 + \frac{1}{2})$ , since  $L \in \mathcal{APU}(\mathbb{H} \times \mathbb{R}, \mathbb{R})$ , and  $L_X \in \mathcal{APU}(\mathbb{H} \times \mathbb{R}, \mathcal{L}(\mathbb{H}, \mathbb{R}))$ , we obtain  $h \in \mathcal{AP}^0(\mathbb{R}, \mathbb{H}) \subset B^1(\mathbb{R}, \mathbb{H})$ .

• We show that if  $\kappa \in B^2(\mathbb{R}, \mathbb{H})$ , then  $[t \rightarrow L(\kappa(t), t)] \in B^1(\mathbb{R}, \mathbb{R})$ .

Let  $\kappa \in B^2(\mathbb{R}, \mathbb{H})$ , then  $|L(\kappa(t), t)| \leq c_2 |\kappa(t)|_{\mathbb{H}}^2 + h(t)$ , where  $h \in B^1(\mathbb{R}, \mathbb{H}) \subset L^1_{loc}(\mathbb{R}, \mathbb{H})$ , implies that

$$[t \rightarrow L(\kappa(t), t)] \in L^1_{loc}(\mathbb{R}, \mathbb{R}).$$

Applying Lemma (4.1) to the function  $L_X$  with  $p = 2, q = 2, \alpha = 1$ , we have

$$[t \rightarrow L_X(\kappa(t), t)] \in B^2(\mathbb{R}, \mathcal{L}(\mathbb{H}, \mathbb{R})).$$

Let  $\{\kappa_j\}_j$  be a sequence in  $\mathcal{AP}^0(\mathbb{R}, \mathbb{H})$  such that

$$\lim_{j \rightarrow \infty} \|\kappa - \kappa_j\|_{B^2(\mathbb{R}, \mathbb{H})} = 0.$$

Using the mean value inequality theorem [2, page 144], we obtain for all  $t \in \mathbb{R}$

$$\begin{aligned} &|L(\kappa(t), t) - L(\kappa_j(t), t) - L_X(\kappa(t), t) \cdot (\kappa(t) - \kappa_j(t))| \\ &\leq \sup_{\zeta \in ]\kappa(t), \kappa_j(t)[} |L_X(\zeta, t) - L_X(\kappa(t), t)| |\kappa - \kappa_j|_{\mathbb{H}} \\ &\leq a_2 \sup_{\zeta \in ]\kappa(t), \kappa_j(t)[} |\zeta - \kappa(t)|_{\mathbb{H}} |\kappa - \kappa_j|_{\mathbb{H}} \\ &\leq a_2 |\kappa(t) - \kappa_j(t)|_{\mathbb{H}}^2, \end{aligned}$$

and by the monotonicity of the mean value we obtain :

$$\overline{\mathfrak{M}}_t \left\{ |L(\kappa(t), t) - L(\kappa_j(t), t) - L_X(\kappa(t), t) \cdot (\kappa(t) - \kappa_j(t))| \right\} \leq a_2 \overline{\mathfrak{M}}_t \left\{ |\kappa(t) - \kappa_j(t)|_{\mathbb{H}}^2 \right\}.$$

Since  $[t \rightarrow L_X(\kappa(t), t)] \in B^2(\mathbb{R}, \mathcal{L}(\mathbb{H}, \mathbb{R}))$ , and  $\kappa - \kappa_j \in B^2(\mathbb{R}, \mathbb{H})$ , we have

$$[t \rightarrow L_X(\kappa(t), t)(\kappa(t) - \kappa_j(t))] \in B^1(\mathbb{R}, \mathbb{R}).$$

Thanks to [32, Theorem 2.7, page 16], we have

$$[t \rightarrow L(\kappa_j(t), t)] \in \mathcal{AP}^0(\mathbb{R}, \mathbb{R}) \subset B^1(\mathbb{R}, \mathbb{R}),$$

and so by setting  $\phi_j(t) := L(\kappa_j(t), t) - L_X(\kappa(t), t)(\kappa(t) - \kappa_j(t))$ , we have  $\phi_j \in B^1(\mathbb{R}, \mathbb{R})$ . The last previous inequality implies

$$\lim_{j \rightarrow \infty} \overline{\mathfrak{M}}_t \{ |L(\kappa(t), t) - \phi_j(t)| \} = 0.$$

Consequently

$$[t \rightarrow L(\kappa(t), t)] \in B^1(\mathbb{R}, \mathbb{R}).$$

- We show that for all  $\kappa \in B^2(\mathbb{R}, \mathbb{H})$  the operator

$$\mathcal{L}(\kappa) : B^2(\mathbb{R}, \mathbb{H}) \rightarrow B^1(\mathbb{R}, \mathbb{R}), \quad (\mathcal{L}(\kappa)\delta\kappa)(t) := L_X(\kappa(t), t)\delta\kappa(t)$$

is linear continuous.

We have already seen that  $[t \rightarrow L_X(\kappa(t), t)] \in B^1(\mathbb{R}, \mathbb{R})$ . The linearity of  $\mathcal{L}(\kappa)$  is easy to verify, and by using a Cauchy-Schwartz-Buniakovski inequality, [4, page 69], we have

$$\begin{aligned} \mathfrak{M}_t \{ |L_X(\kappa(t), t) \cdot \delta\kappa(t)| \} &\leq \mathfrak{M}_t \{ |L_X(\kappa(t), t)| |\delta\kappa(t)|_{\mathbb{H}} \} \\ &\leq \mathfrak{M}_t \left\{ |L_X(\kappa(t), t)|^2 \right\}^{\frac{1}{2}} \mathfrak{M}_t \left\{ |\delta\kappa(t)|_{\mathbb{H}}^2 \right\}^{\frac{1}{2}}, \end{aligned}$$

and so  $\mathcal{L}(\kappa)$  is continuous.

- We show the differentiability of  $\mathcal{N}_{\mathcal{L}}$ .

Let  $\kappa \in B^2(\mathbb{R}, \mathbb{H})$ . By using the mean value inequality theorem, [2, page 144], we have for all  $t \in \mathbb{R}$ ,

$$\begin{aligned} |L(\kappa(t) + \delta\kappa(t), t) - L(\kappa(t), t) - L_X(\kappa(t), t) \cdot \delta\kappa(t)| \\ \leq \sup_{\zeta \in [\kappa(t), \kappa(t) + \delta\kappa(t)]} |L_X(\zeta(t), t) - L_X(\kappa(t), t)| \cdot |\delta\kappa(t)|_{\mathbb{H}} \\ \leq a_2 |\delta\kappa(t)|_{\mathbb{H}}^2. \end{aligned}$$

And the monotonicity of the mean value permits us to obtain

$$\mathfrak{M}_t \{ |L(\kappa(t) + \delta\kappa(t), t) - L(\kappa(t), t) - L_X(\kappa(t), t) \cdot \delta\kappa(t)| \} \leq a_2 \mathfrak{M}_t \left\{ |\delta\kappa(t)|_{\mathbb{H}}^2 \right\},$$

which provides

$$\| \mathcal{N}_{\mathcal{L}}(\kappa + \delta\kappa) - \mathcal{N}_{\mathcal{L}}(\kappa) - \mathcal{L}(\kappa) \cdot \delta\kappa \|_{B^1(\mathbb{R}, \mathbb{R})} \leq a_2 \| \delta\kappa \|_{B^2(\mathbb{R}, \mathbb{H})}^2,$$

and so that  $\mathcal{N}_{\mathcal{L}}$  is differentiable at  $\kappa$  and  $D\mathcal{N}_{\mathcal{L}}(\kappa) = \mathcal{L}(\kappa)$ .

- We show that  $\mathcal{N}_L$  is of class  $C^1$ .

Let  $\kappa_1, \kappa_2 \in B^2(\mathbb{R}, \mathbb{H})$ . From (H3), we have for all  $\delta\kappa \in B^2(\mathbb{R}, \mathbb{H})$  such that  $\|\delta\kappa\|_{B^2(\mathbb{R}, \mathbb{H})} \leq 1$ , for all  $t \in \mathbb{R}$  :

$$\begin{aligned} |(L_X(\kappa_1(t), t) - L_X(\kappa_2(t), t))\delta\kappa(t)| &\leq |(L_X(\kappa_1(t), t) - L_X(\kappa_2(t), t))| \cdot |\delta\kappa(t)|_{\mathbb{H}} \\ &\leq a_2 |\kappa_1(t) - \kappa_2(t)|_{\mathbb{H}} \cdot |\delta\kappa(t)|_{\mathbb{H}}, \end{aligned}$$

that implies by using the Cauchy-Schwarz-Buniakovski inequality, [4, page 69]

$$\begin{aligned} \mathfrak{M}_t \{ |(L_X(\kappa_1(t), t) - L_X(\kappa_2(t), t))\delta\kappa(t)| \} &\leq a_2 \mathfrak{M}_t \{ |\kappa_1(t) - \kappa_2(t)|_{\mathbb{H}} \cdot |\delta\kappa(t)|_{\mathbb{H}} \} \\ &\leq a_2 \|\kappa_1 - \kappa_2\|_{B^2(\mathbb{R}, \mathbb{H})} \cdot \|\delta\kappa\|_{B^2(\mathbb{R}, \mathbb{H})} \\ &\leq a_2 \|\kappa_1 - \kappa_2\|_{B^2(\mathbb{R}, \mathbb{H})}. \end{aligned}$$

Therefore we have

$$\|D\mathcal{N}_L(\kappa_1) - D\mathcal{N}_L(\kappa_2)\|_{\mathcal{L}} \leq a_2 \|\kappa_1 - \kappa_2\|_{B^2(\mathbb{R}, \mathbb{H})},$$

which implies the continuity of  $D\mathcal{N}_L$ .  $\square$

**Theorem 4.3** (Variational Principle). *We assume conditions (H3) and (H4) fulfilled. Then the functional  $\Phi : B^{1,2}(\mathbb{R}, \mathbb{R}^n) \rightarrow \mathbb{R}$ , defined by*

$$\Phi(u) := \mathfrak{M}_t \{ L(u(t), u_t, \nabla u(t), (\nabla u)_t, t) \}$$

is of class  $C^1$ , and the two following assertions are equivalent:

1.  $D\Phi(u) = 0$ , i.e.  $u$  is a critical point of  $\Phi$ .
2.  $D_1L(u(t), u_t, \nabla u(t), (\nabla u)_t, t) + \mathcal{T}^*D_2L(u(t), u_t, \nabla u(t), (\nabla u)_t, t)$   
 $= \nabla [D_3L(u(t), u_t, \nabla u(t), (\nabla u)_t, t) + \mathcal{T}^*D_4L(u(t), u_t, \nabla u(t), (\nabla u)_t, t)]$

*Proof.* We consider the operator  $\mathfrak{L} : B^{1,2}(\mathbb{R}, \mathbb{R}^n) \rightarrow B^2(\mathbb{R}, \mathbb{R}^n) \times B^2(\mathbb{R}, \mathcal{B}) \times B^2(\mathbb{R}, \mathbb{R}^n) \times B^2(\mathbb{R}, \mathcal{B}) \equiv B^2(\mathbb{R}, \mathbb{R}^n \times \mathcal{B} \times \mathbb{R}^n \times \mathcal{B}) := B^2(\mathbb{R}, \mathbb{H})$  defined by

$$\mathfrak{L}(u)(t) := (u(t), u_t, \nabla u(t), (\nabla u)_t).$$

It follows that  $\mathfrak{L}$  is linear continuous, therefore  $\mathfrak{L}$  is of class  $C^1$ , and  $D\mathfrak{L}(u)v = \mathfrak{L}(v)$ .

By using Lemma (4.2), the Nemytskii operator  $\mathcal{N}_L : B^2(\mathbb{R}, \mathbb{H}) \rightarrow B^1(\mathbb{R}, \mathbb{R})$ , defined by  $\mathcal{N}_L(\kappa)(t) := L(\kappa(t), t)$ , is of class  $C^1$  and for all  $\kappa, \delta\kappa \in B^2(\mathbb{R}, \mathbb{H})$  we have

$$(D\mathcal{N}_L(\kappa)\delta\kappa)(t) = L_X(\kappa(t), t)\delta\kappa(t).$$

It follows that the mean value  $\mathfrak{M} : B^1(\mathbb{R}, \mathbb{R}) \rightarrow \mathbb{R}$  is linear continuous, therefore it is of class  $C^1$ , and  $D\mathfrak{M}\{f\}.g = \mathfrak{M}\{g\}$  for all  $f, g \in B^1(\mathbb{R}, \mathbb{R})$ .

Consequently  $\Phi : \mathfrak{M} \circ \mathcal{N}_L \circ \mathfrak{L}$  is of class  $C^1$  as a composition of three mappings of class  $C^1$ , and by using the chain rule, we obtain, for all  $u, v \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$ , the following formula

$$\begin{aligned} D\Phi(u).v &= D\mathfrak{M}(\mathcal{N}_L \circ \mathfrak{L}(u)) \circ D\mathcal{N}_L(\mathfrak{L}(u)) \circ D\mathfrak{L}(u)v \\ &= \mathfrak{M} \{ D\mathcal{N}_L(\mathfrak{L}(u)).\mathfrak{L}(v) \} \\ &= \mathfrak{M}_t \{ D_1L(\underline{u}(t), t)v(t) + D_2L(\underline{u}(t), t)v_t \\ &\quad + D_3L(\underline{u}(t), t)\nabla v(t) + D_4L(\underline{u}(t), t)(\nabla v)_t \}. \end{aligned}$$

Let  $u \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$ , we assume that (i) is true. Then for all  $v \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$  we have

$$\begin{aligned}
 0 &= D\Phi(u).v \\
 &= \mathfrak{M}_t \{ D_1 L(\underline{u}(t), t)v(t) + D_2 L(\underline{u}(t), t)v_t \\
 &\quad + D_3 L(\underline{u}(t), t)\nabla v(t) + D_4 L(\underline{u}(t), t)(\nabla v)_t \} \\
 &= \mathfrak{M}_t \{ D_1 L(\underline{u}(t), t)v(t) + D_2 L(\underline{u}(t), t)\mathcal{T}v(t) \\
 &\quad + D_3 L(\underline{u}(t), t)\nabla v(t) + D_4 L(\underline{u}(t), t)\mathcal{T}(\nabla v)(t) \} \\
 &= \mathfrak{M}_t \{ D_1 L(\underline{u}(t), t)v(t) + \mathcal{T}^* D_2 L(\underline{u}(t), t)v(t) \\
 &\quad + D_3 L(\underline{u}(t), t)\nabla v(t) + \mathcal{T}^* D_4 L(\underline{u}(t), t)\nabla v(t) \} \\
 &= \mathfrak{M}_t \{ (D_1 L(\underline{u}(t), t) + \mathcal{T}^* D_2 L(\underline{u}(t), t))v(t) \\
 &\quad + (D_3 L(\underline{u}(t), t) + \mathcal{T}^* D_4 L(\underline{u}(t), t))\nabla v(t) \}.
 \end{aligned}$$

Then by using [11, Proposition 10], we obtain (ii).

Conversly, if (ii) is true, then

$$[t \mapsto D_3 L(\underline{u}(t), t) + \mathcal{T}^* D_4 L(\underline{u}(t), t)] \in B^{1,2}(\mathbb{R}, \mathbb{R}^n),$$

and for all  $v \in \mathcal{AP}^1(\mathbb{R}, \mathbb{R}^n)$  we have

$$\begin{aligned}
 &\mathfrak{M}_t \{ (D_1 L(\underline{u}(t), t) + \mathcal{T}^* D_2 L(\underline{u}(t), t)).v(t) \} \\
 &\quad - \mathfrak{M}_t \{ \nabla (D_3 L(\underline{u}(t), t) + \mathcal{T}^* D_4 L(\underline{u}(t), t)).v(t) \} = 0.
 \end{aligned}$$

Using [11, Proposition 9], we obtain

$$\begin{aligned}
 0 &= \mathfrak{M}_t \{ (D_1 L(\underline{u}(t), t) + \mathcal{T}^* D_2 L(\underline{u}(t), t)).v(t) \\
 &\quad + (D_3 L(\underline{u}(t), t) + \mathcal{T}^* D_4 L(\underline{u}(t), t)).v'(t) \} \\
 &= \mathfrak{M}_t \{ D_1 L(\underline{u}(t), t).v(t) + \mathcal{T}^* D_2 L(\underline{u}(t), t).v(t) \\
 &\quad + D_3 L(\underline{u}(t), t).v'(t) + \mathcal{T}^* D_4 L(\underline{u}(t), t).v'(t) \} \\
 &= \mathfrak{M}_t \{ D_1 L(\underline{u}(t), t).v(t) + D_2 L(\underline{u}(t), t)\mathcal{T}v(t) \\
 &\quad + D_3 L(\underline{u}(t), t).v'(t) + D_4 L(\underline{u}(t), t)\mathcal{T}v'(t) \} \\
 &= \mathfrak{M}_t \{ D_1 L(\underline{u}(t), t).v(t) + D_2 L(\underline{u}(t), t)v_t \\
 &\quad + D_3 L(\underline{u}(t), t).v'(t) + D_4 L(\underline{u}(t), t)v'_t \} \\
 &= D\Phi(u).v.
 \end{aligned}$$

Since  $\mathcal{AP}^1(\mathbb{R}, \mathbb{R}^n)$  is dense in  $B^{1,2}(\mathbb{R}, \mathbb{R}^n)$ , [11, Proposition 8], we have  $D\Phi(u).v = 0$ , for all  $v \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$ , which implies  $D\Phi(u) = 0$ .  $\square$

**Definition 4.4.** When  $u \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$  satisfies the equation of (2) in Theorem (4.3), we say that  $u$  is a weak Besicovitch-ap solution of (1.2).

## 5 Existence and uniqueness

Let  $L : \mathbb{H} \times \mathbb{R} \rightarrow \mathbb{R}$ ,  $(X, t) \mapsto L(X, t)$  be a continuous function. We give the following list of assumptions.

(H5)  $L(\cdot, t)$  is convex, for all  $t \in \mathbb{R}$ .

(H6) There exists  $a_3 \in [0, +\infty)$  such that for all  $t \in \mathbb{R}$  and  $(x_1, \varphi_1, x_2, \varphi_2) \in \mathbb{H}$ , we have  $|L(x_1, \varphi_1, x_2, \varphi_2, t)| \geq a_3(\beta + \gamma)$ , where

$$\begin{cases} \beta := |x_1|^2 \text{ or } |\varphi_1|_{\mathcal{B}}^2, \\ \gamma := |x_2|^2 \text{ or } |\varphi_2|_{\mathcal{B}}^2. \end{cases}$$

**Theorem 5.1** (Existence). *We assume conditions (H3), (H4), (H5), and (H6) fulfilled. Then there exists a function  $u \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$  which is a weak Besicovitch a.p. solution of (1.2).*

*Proof.* By using Theorem (4.3), the assumptions (H3) and (H4) imply that the functional  $\Phi$  is of class  $C^1$ . The assumption (H5) implies that the functional  $\Phi$  is convex. And by using (iii) of Lemma (3.3) and the monotonicity of the mean value, the assumption (H6) implies, for all  $u \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$

$$\begin{aligned} \Phi(u) &\geq a_3 \left( \|u\|_{B^2(\mathbb{R}, \mathbb{R}^n)}^2 + \|\nabla u\|_{B^2(\mathbb{R}, \mathbb{R}^n)}^2 \right) \\ &= a_3 \|u\|_{B^{1,2}(\mathbb{R}, \mathbb{R}^n)}^2, \end{aligned}$$

which allows us to deduce that  $\Phi$  is coercive functional on  $B^{1,2}(\mathbb{R}, \mathbb{R}^n)$ . And so by using [14, page 46 ], there exists  $u \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$ , such that

$$\Phi(u) = \inf \{ \Phi(v); v \in B^{1,2}(\mathbb{R}, \mathbb{R}^n) \}.$$

Therefore  $D\Phi(u) = 0$ , and applying Theorem (4.3),  $u$  is weak Besicovitch a.p. solution of (1.2)  $\square$

**Theorem 5.2** (Uniqueness). *Assuming that the conditions (H3), (H4), (H5), and (H6) are satisfied. Assume moreover that the following condition is satisfied,*

$$\left\{ \begin{array}{l} \text{There exists } a_4 \in [0, +\infty), \text{ such that the function} \\ K : \mathbb{H} \times \mathbb{R} \rightarrow \mathbb{R} \text{ defined by} \\ K(x_1, \varphi_1, x_2, \varphi_2, t) := L(x_1, \varphi_1, x_2, \varphi_2, t) - \frac{a_4}{2}(\beta + \gamma), \\ \text{is convex with respect to } (x_1, \varphi_1, x_2, \varphi_2) \text{ for all } t \in \mathbb{R}, \end{array} \right. \quad (5.1)$$

*then there exists a unique function  $u \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$  which is a weak Besicovitch a.p. solution of (1.2).*

*Proof.* By using the Theorem (5.1), the assumptions (H3), (H4), (H5), and (H6) ensure the existence of a weak Besicovitch a.p. solution of (1.2).

Setting the functional

$$\begin{aligned} \Psi(u) &:= \Phi(u) - \frac{a_4}{2} \left( \mathfrak{M}_t \{ |u(t)|^2 \} + \mathfrak{M}_t \{ |\nabla u(t)|^2 \} \right) \\ &= \Phi(u) - \frac{a_4}{2} \left( \|u\|_{B^2(\mathbb{R}, \mathbb{R}^n)}^2 + \|\nabla u\|_{B^2(\mathbb{R}, \mathbb{R}^n)}^2 \right). \end{aligned}$$

By (3i) of Lemma (3.3), the condition (5.1) implies that the functional  $\Psi$  is convex, and since  $\Phi$  is of class  $C^1$ ,  $\Psi$  it is also, and for all  $u, v \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$

$$\begin{aligned} D\Psi(u)v &= D\Phi(u)v - a_4 \left\{ \langle u, v \rangle_{B^2(\mathbb{R}, \mathbb{R}^n)} + \langle \nabla u, \nabla v \rangle_{B^2(\mathbb{R}, \mathbb{R}^n)} \right\} \\ &= D\Phi(u)v - a_4 \langle u, v \rangle_{B^{1,2}(\mathbb{R}, \mathbb{R}^n)}. \end{aligned}$$

The Minty monotonicity of the differential of a convex functional, implies that

$$\langle D\Psi(u) - D\Psi(v), u - v \rangle_{B^{1,2}(\mathbb{R}, \mathbb{R}^n)} \geq 0, \quad \forall u, v \in B^{1,2}(\mathbb{R}, \mathbb{R}^n),$$

and then we have  $\forall u, v \in B^{1,2}(\mathbb{R}, \mathbb{R}^n)$

$$\langle D\Phi(u) - D\Phi(v), u - v \rangle_{B^{1,2}(\mathbb{R}, \mathbb{R}^n)} - a_4 \langle u - v, u - v \rangle_{B^{1,2}(\mathbb{R}, \mathbb{R}^n)} \geq 0,$$

eventually,

$$\langle D\Phi(u) - D\Phi(v), u - v \rangle_{B^{1,2}(\mathbb{R}, \mathbb{R}^n)} \geq a_4 \|u - v\|_{B^{1,2}(\mathbb{R}, \mathbb{R}^n)}^2, \quad \forall u, v \in B^{1,2}(\mathbb{R}, \mathbb{R}^n).$$

So if  $u$  and  $v$  are two weak Besicovitch a.p. solutions of (1.2), by Theorem (4.3) we have  $D\Phi(u) = D\Phi(v) = 0$ , and consequently  $a_4 \|u - v\|_{B^{1,2}(\mathbb{R}, \mathbb{R}^n)}^2 = 0$ , which gives that  $u = v$ .  $\square$

### Acknowledgments

The author thanks the referees for their careful reading of the manuscript and insightful comments.

The author wishes to thank Prof. J. Blot for precious encouragement and support.

### References

- [1] N. I. Akhiezer and I. M. Glazman, *Theory of Linear Operators in Hilbert Space. I*, Dover Publications, Mineola, New York, 1993.
- [2] V. M. Alexeev, V. M. Tihomirov and S. V. Fomin, *Commande Optimale*. French Edition, Mir, Moscow, 1982.
- [3] M. Ayachi and J. Blot, Variational Methods for Almost Periodic Solutions of a Class of Neutral Delay Equations *Abstract and Applied Analysis*. 2008, Article ID 153285, 13 pages, 2008. doi: 1155/2008/153285.
- [4] A. S. Besicovitch, *Almost Periodic Functions*. Cambridge University Press, Cambridge, 1932.
- [5] A. S. Besicovitch and H. Bohr, Almost Periodicity and General Trigonometric Series. *Acta Math.* **57** (1931), pp 203-292.
- [6] J. Blot, Calculus of Variations in Mean and Convex Lagrangians. *J. Math. Anal. Appl.* **134** (1988), n°2, pp 312-321.



- 
- [7] J. Blot, Une Approche Variationnelle des Orbites Quasi-périodiques des Systèmes Hamiltoniens. *Ann. Sc. Math. Québec* **13** (1989), n°2, pp 7-32 (French).
- [8] J. Blot, Calculus of Variations in Mean and Convex Lagrangians, II. *Bull. Austral. Math. Soc.* **40** (1989), pp 457-463.
- [9] J. Blot, Une Approche Hilbertienne Pour les Trajectoires Presque-périodiques. *Notes CR. Acad. Sc. Paris* **313** (1991), Série I, pp 487-490 (French).
- [10] J. Blot, Almost Periodic Solutions of Forced Second Order Hamiltonian Systems. *Ann. Fac. Sc. Toulouse* **XIII** (1991), n°3, pp 351-363.
- [11] J. Blot, Oscillations Presque-périodiques Forcées d'équations d'Euler-lagrange. *Bull. Soc. Math.* **122** (194), pp 285-304. (French).
- [12] H. Bohr, *Almost Periodic Functions*, Chelsea, New York, 1956.
- [13] H. Bohr and E. Foelner, One Some Types of Functional Spaces. *Acta Math.* **76** (1945), pp 31-155.
- [14] H. Brezis, *Analyse Fonctionnelle. Théorie et Applications*. Masson, Paris, 1983. (French).
- [15] P. Cieutat, *Solutions Presque-périodiques d'équations d'évolution et de Systèmes Non Linéaires*. Doctorat Thesis, Université Paris 1 Panthéon-Sorbonne, (1996). (French).
- [16] T. Diagana, H. Henriquez, and E. Hernandez, Asymptotically Almost Periodic Solutions to Some Classes of Second-Order Functional Differential Equations. *Differential Integral Equations* **21**(2008), no. 5-6, 575–600.
- [17] L. E. Elsgolc, *Qualitative Methods in Mathematical Analysis. Translation of Mathematical Monograph, Am. Math. Soc.*, Providence, Rhode Island, (1964).
- [18] J. K. Hale and S. M. Verduyn Lunel, *Introduction to Functional-Differential Equations*. Applied Mathematical Sciences **99**, Springer-Verlag, New York, 1993.
- [19] H. R. Henriquez and C. Vasquez, Almost Periodic Solutions of Abstract Retarded Functional Differential Equations With Unbounded Delay. *Acta Appl. Math.* **57** (1999), pp 105-132.
- [20] H. R. Henriquez and C. Vasquez, Differentiability of Solutions of Second-Order Functional Differential Equations With Unbounded delay. *J. Math. Appl.* **280** (2003), pp 284-312.
- [21] E. Hernandez and M. McKibben, Some Comments On: Existence of Solutions of Abstract Nonlinear Second-Order Neutral Functional Integro-differential Equations. *Comput. Math. Appl.* **50** (2005), pp 655-669.
- [22] Y. Hino, S. Murakami and T. Naito, *Functional Differential Equations With Infinite Delay*, Lecture Notes in Mathematics, **1473**, Springer-Verlag, 1991.

- [23] D. K. Hughes, Variational and Optimal Control Problems with Delayed Argument. *J. Optim. Th. Appl.* **2** (1968), n°1, pp 1-14.
- [24] M. Krasnoselsky, *Topological Methods in the Theory of Nonlinear Integral Equations GITTL*. Moscow (1956), English trans. Macmillan, New York 1964.
- [25] V. Lakshmikantham, L. Wen and B. Zhang, *Theory of Differential Equations with Unbounded Delay*. Kluwer Acad. Publ., Dordrecht, 1994.
- [26] B. M. Levitan and V. V. Zhikov, *Almost Periodic Functions and Differential Equations*. Cambridge Univ. Press, Cambridge, 1982.
- [27] Y. Li, Existence of Periodic Solutions for Second-Order Neutral Differential Equations. *Electron. J. Diff. Equ.* (2005), n°.26, pp 1-5.
- [28] N.-V. Minh, T. Naito and J.-S. Shin, Periodic and Almost Periodic Solutions of Functional Differential Equations With Infinite Delay. *Nonlinear Anal.* **47** (2001), n°6.
- [29] A. A. Pankov, *Bounded and Almost Periodic Solutions of Nonlinear Operator Differential Equations*. Kuwer Acad. Publ., Dordrecht, 1990.
- [30] L. D. Sabbagh, Variational Problems with Lags. *J. Optim. Th. Appl.* **3** (1969), n°1, pp 34-51.
- [31] X.-B. Shu and Y.-T. Xu, Multiple Periodic Solutions for a Class of Second-Order Nonlinear Neutral Delay Equations. *Abstract and Applied Analysis* (2006), Article ID 10252, 9 pages, 2006. doi: 10.1155/2006/10252.
- [32] T. Yoshizawa, *Stability Theory and the Existence of Periodic Solutions and Almost Periodic Solutions*. Springer-Verlag, New York, Inc., 1975.